•	
DATE OF ISSUANCE	EFFECTIVE DATE

OWNER: St. Charles Parish

CONTRACTOR: <u>Barriere Construction Co., L.L.C.,</u> Contract: <u>St. Charles Parish Road Maintenance 2010</u> Project: <u>St. Charles Parish Road Maintenance 2010</u>

OWNER's Contract No.: P090103-4

ENGINEER: G.E.C., Inc.

ENGINEER's Contract No.: 51206102-005

You are directed to make the following changes in the Contract Documents:

## Description:

1. Delete the Following Work Items:

N/A

2. Add the Following Work Items:

N/A

- 3. Revise the Following Work Item Quantities:
  - a. Contract Item No. 1: Base Bid: Temporary Signs and Barricades Current:

	e air cirri			
DESCRIPTION: Tempora	ary Signs and Barricades			X Base Bid or 🖸 Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
1	Lump	Lump Sum	\$14,000.00	\$14,000.00

Change to:

DESCRIPTION: Tempor	DESCRIPTION: Temporary Signs and Barricades				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
1	Lump	Lump Sum	\$24,376.19	\$24,376.19	

#### A difference of (+\$10,376.19)

 b. Contract Item No. 2: Base Bid: 2 - Inch Depth Cold Plane Current:

	Curron.			
DESCRIPTION: 2 - Inch	Depth Cold Plane	44.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4.4		X Base Bid or Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	20,972	Square Yard	\$1.00	\$20,972.00

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Cold Plane				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
2	32,915	Square Yard	, \$1.00	\$32,915.00	

## A difference of (+\$11,943.00)

c. Contract Item No. 3: Base Bid: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
3	. 2,307	Ton	. \$75.00	\$173,025.00	

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course				
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
3	3,621	Ton	\$75.00	\$271,575.00	

## A difference of (+\$98,550.00)

d. Contract Item No. 4: Base Bid: 6 - Inch Depth Asphalt Patching

DESCRIPTION: 6 - Inch Depth Asphalt Patching				X Base Bid or 🖸 Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
· 4	822 ·	Ton	\$110.00	\$90,420.00

Change to:

DESCRIPT	ION: 6 - Inch	Depth Asphalt Patching			X Base Bid or Alt.#
REF	. NO.	QUANTITY:	UNIT OF MEASURE:	· UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
	4	824	Ton	\$110.00	\$90,640.00

## A difference of (+\$220.00)

e. Contract Item No. 5: Base Bid: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
5	26	Each	\$6.00	\$156.00	

Change to:

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
5	42	Each	\$6.00	\$252.00	

# A difference of (+\$96.00)

f. Contract Item No. 6: Base Bid: Adjustment of Manholes Current:

DESCRIPTION: Adjustm	X Base Bid or 🗆 Alt.#			
REF. NO.	QUANTITY;	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
6	8	Each	\$100.00	\$800.00

Change to:

DESCRIPTION: Adjustm	X Base Bid or 🔾 Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
6	13 .	Each	\$100.00	\$1,300.00

## A difference of (+\$500.00)

g. Contract Item No. 7: Base Bid: Adjustment of Drainage Structures Current:

DESCRIPTION: Adjustm	X Base Bid or 🖸 Alt.#			
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE			
7	8	Each	\$100.00	\$800.00

Change to:

DESCRIPTION: Adjustm	ent of Drainage Structures		, 1,	X Base Bid or □ Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	13	Each	\$100.00	\$1,300.00

## **A difference of (+\$500.00)**

h. Contract Item No. 8: Base Bid: Adjustment of Water Valves

DESCRIPTION: Adjustment of Water Valves				X Base Bid or 🗖 Alt.#	
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				
8	8	Each	\$35.00	\$280.00	

Change to:

DESCRIPTION: Adjustn	X Base Bid or 🗆 Alt.#			
REF. NO.	. QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
8	13	Each	\$35.00	\$455.00

## A difference of (+\$175.00)

i. Contract Item No. 10: Base Bid: Shoulder Material (Earthen Fill)

DESCRIPTION	: Shoulder	X Base Bid or Alt.#			
REF. NO	).	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10		15,594	Linear Foot	\$1.25	\$19,492.50

Change to:

DESCRIPTION: Shoulde	X Base Bid or 🗖 Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	24,900	Linear Foot	\$1.25	\$31,125.00

## A difference of (+\$11,632.50)

j. Contract Item No. 11: Base Bid: 4 - Inch Wide Thermoplastic Reflective Striping Current:

DESCRIPTION: Four (4)	X Base Bid or Alt.#			
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE			
11	8,320	Linear Foot	\$0.50	· \$4,160.00

Change to:

	Change to					
DESCRIPTION: Four (4	X Base Bid or 🚨 Alt.#					
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE					
11	12,973	Linear Foot	\$0.50	\$6,486.50		

## A difference of (+\$2,326.50)

k. Contract Item No. 14: Base Bid: Mobilization Current:

DESCRIPTION: Mobiliz	X Base Bid or □ Alt.#			
REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				UNIT PRICE EXTENSION (Quantity times Unit Price)
. 14	Lump	Lump Sum	\$38,000.00	\$38,000.00

1

Change to:

DESCRIPTION: Mobiliz	ation ·			X Base Bid or ☐ Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
14	Lump	Lump Sum	\$55,681,40	\$55,681.40

## A difference of (+\$17,681.40)

## Total of Change in Base Items = (+\$154,000.59)

a. Contract Item No. 1: Alternate Bid: Temporary Signs and Barricades Current:

DESCRIPTION: Tempor	ary Signs and Barricades			☐ Base Bid or X Alt.# _1_
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
1	Lump	Lump Sum	\$83,000.00	\$83,000.00

Change to:

DESCRIPTION: Tempor	ary Signs and Barricades			☐ Base Bid or X Alt.# _ [
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
1	Lump	Lump Sum	\$87,219.16	\$87,219.16

# A difference of (+\$4,219.16)

b. Contract Item No. 2: Alternate Bid: 2 - Inch Depth Cold Plane Current:

	~ W1. V1. V1			
DESCRIPTION: 2 - Inch Depth Cold Plane				☐ Base Bid or X Alt.# _1_
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	84 670	Square Yard	\$1.00	\$84,670,00

Change to:

DESCRIPTION: 2 - Inch	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	88,587	Square Yard	\$1,00	\$88,587.00

# A difference of (+\$3,917.00)

c. Contract Item No. 3: Alternate Bid: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
3	9,314	Ton	\$75.00	\$698,550.00	

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course			☐ Base Bid or X Alt.# _1_
REF. NO. QUANTITY: UNIT OF MEASURE:			UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
3	9,745	Ton	\$75.00	\$730,875.00

# A difference of (+\$32,325.00)

# d. Contract Item No. 4: Alternate Bid: 6 - Inch Depth Asphalt Patching

DESCRIPTION: 6 - Inch	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	1,105	Ton	\$110.00	\$121,550.00

Change to:

DESCRIPTION: 6 - Inch	☐ Base Bid or X Alt.# _1_			
REF. NO.	. QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	1,148	Ton	\$110.00	. \$126,280.00

## A difference of (+\$4,730.00)

e. Contract Item No. 8: Alternate Bid: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers					
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
8	123	Each	\$6.00	\$738.00		

Change to:

DESCRIPTION: Reflecto	☐ Base Bid or X Alt.# 1			
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE			
8	129	Each	\$6.00	\$774.00

## A difference of (+\$36.00)

f. Contract Item No. 9: Alternate Bid: Adjustment of Manholes Current:

DESCRIPTION: Adjustm	DESCRIPTION: Adjustment of Manholes				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
9	37	Each	\$100.00	\$3,700.00	

Change to:

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9	39	Each	\$100.00	\$3,900.00

# A difference of (+\$200.00)

g. Contract Item No. 10: Alternate Bid: Adjustment of Drainage Structures Current:

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	· UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	` 37	Each	\$100.00	\$3,700.00

/ Change to:

DESCRIPTION: Adjustn	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	39	Each	\$100.00	\$3,900.00

## A difference of (+\$200.00)

h. Contract Item No. 11: Alternate Bid: Adjustment of Water Valves

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	37	Each	\$35.00	\$1,295.00

Change to:

DESCRIPTION: Adjust	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	39	Each	\$35.00	\$1,365.00

#### A difference of (+\$70.00)

 Contract Item No. 13: Alternate Bid: Shoulder Material (Earthen Fill) Current:

DESCRIPTION: Shoulde	r Material (Earthen Fill)			☐ Base Bid or X Alt.# 1
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
13	73,322	Linear Foot \	\$1.25	\$91,652.50

Change to:

DESCRIPTION: Shoulde	☐ Base Bid or X Alt.# _ I _			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
13	77,106	Linear Foot	\$1.25	\$96,382.50

## A difference of (+\$4,730.00)

j. Contract Item No. 17: Alternate Bid: Mobilization

DESCRIPTION: Mobilization					☐ Base Bid or X Alt,# 1
REF	. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
	17	Lump	Lump Sum	\$120,000.00	\$120,000.00

Change to:

DESCRIPTION: Mobiliza	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
17	Lump	Lump Sum	\$127,189.60	\$127,189.60

#### A difference of (+\$7,189.60)

Total of Change in Alternate Items = (+\$57,616.76)

Total of Change in Revised Items = (+\$211,617.35)

#### Reason for Change Order:

I. Deleted Work Items

N/A

2. Add Work Items

N/A

- 3. Revise Work Item Quantities
  - **a-k**: At the request of the Parish, more work was added to the Base Bid in order to exhaust roadway project funding.
  - **a-j**: At the request of the Parish, more work was added to the Alternate Bid in order to exhaust roadway project funding.

Attachments: The following drawings will replace those from the original contract documents.

DWG1... ASPHALT QUANTITIES TABLE (BASE BID)

DWG2... ASPHALT QUANTITIES TABLE (ALTERNATIVE 1)

CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:
Original Contract Price \$1,807,961.50	Original Contract Times: Substantial Completion: Ready for final payment: (days or dates)
Net Increase (Decrease) from previous Change Orders Noto:  \$N/A	Net change from previous Change Orders No to No: Substantial Completion: Ready for final payment: (days)
Contract Price prior to this Change Order: \$1,807,961.50	Contract Times prior to this Change Order: Substantial Completion: Ready for final payment: (days or dates)
Net increase (decrease) of this Change Order: \$211,617.35	Net increase (decrease) this Change Order: Substantial Completion: Ready for final payment: (days)
Contract Price with all approved Change Orders: \$2,019,578.85	Contract Times with all approved Change Orders: Substantial Completion: Ready for final payment: (days or dates)
RECOMMENDED:  By: By: By: OWNER (Authorized Signature)  Date: Date: Date: Date:	_ By: Warneloogli

EJCDC 1910-8-B (1996 Edition)

Prepared by the Engineers Joint Contract Documents Committee and endorsed by The Associated General Contractors of America and the Construction Specifications Institute.